Organic Chenistry c3444y
2nd Hour Exam

Monday, Feh. 25, 2000
Frof Leighton

Name: ID#

Signature:

Bl irite vour name on every page.
B The exam 15 5 pages long (refincluding this one). Please make sure wvou have all of the pages.

B “Write complete buf succinet answers. Good Luck!

Juestion 1 (20 pta):

Cuestion 2 (30 pts):

Juestion 3 (10 pta):

Cuestion 4 (24 pta):

Cuestion 5 (16 pta);

Total (100 pts):




Iame:

1. Provide detailed mechanisms for the following transformati ons:

a (10 pts) (Just a simple mechanism, no long explanations needed here)

CFa CFs

Cl Y HoM

-

NGO, MO,

b (10 pts) OH O &

) hieliH )
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Mame:

2. Predict the major product of the following reactions:

a. (10 pts)
i
A
1. R o—0o
2. LiAH,
0 3. H O
b (10 pts)
1. PPhy
)\/\ 2. LDA (3 hase)
-
Br 0
.
H M E
c. (10 pts)
D _H
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Mame:

3. (10 pts) Given that the Withg reaction produces cis alkenes preferentially, it would be useful to have a
method for the conversion of gis alkenes to frans allkkenes. One such method is shown below. In the first
step the cig alkene 12 epoxicized with a peracid In the second step, the epoxtde 15 treated wath PPhs.

Provide amechanism for the second step and explain (bniefly ) why a fraxs alkene 1z produced.

O

)J\ H |:| 1]
— = D—Of FFPhs WRI N Iﬁ'
| ] -|'|'|'l'I 'I-'-'_| | ]
S H /—\ H R PPhy

F =3
F !
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4. Prowide the reagents necessary to accomplish the following transf ormations:

a. (8 pts)
Br | L
s
b. (8 pts)
)
RJ\H
c. (8 pts)
)

Mame:
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Iame:

5. Recall that 2-chloropyridine undergoes smooth Syphr reactions:

o, =

Cl N OCH,

a. (o pts) This reaction can occur because the intermediate anton that 13 generated enjovs special
stability. Explain with structures what 15 the nature of this special stabality.

b. (8 pts) Would yvou expect Z-chlorofuran to undergo smooth Syhr reactions?
(We will look at wour wortk, but vou must clearly write "yves" or "no."

COCH

] Cl
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